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(b)  Find the present value of Rs. 2,000 due at end of 3 years

if money is worth 6% compounded semiannually.
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Or
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A money lender charges ‘interest’ at the rate of 3 rupees
per 100 rupees per month, payable in advance." What

effective rate does he charge per annum ? 133
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Note :— Answers may be written either in English or in Hindi;
but the same medium should be used throughout the

paper.
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Attempt A/l questions.
Log tables shall be provided on demand.
Use of simple calculator is allowed.
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(@) The total cost function of a firm is Te(x) = 1500 + 30x

+ x2. where x is the output. Determine :

(1) The average cost function,

@ The marginal cost function,

3) The marginal cost when 20 units are produced.

The actual cost of producing twenty-first unit.
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(b)

(52) 6055

Or
(3t9rE)

The demand function and the average cost function of
a manufacturer are = P - 400 - 2x and N0 ¥ A
(400/x) respectively. Find the profit maximizing output
and price.
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Find the price elasticity of demand for the demand
function x = 5 - 3p- when p = Re. . Also find price and

quantity where it has unitary elasticity.

PTO.



